Explanatory Key
Atisk is something that could happen in the future and have an impact on the completion or outcome of the Programme.

All programmes have an element of risk; all new risks will be recorded as soon as they are identified and all risks will be tpdated when a change (positive or negative) occurs. This is to ensure that the programme can demonstrate how it will deal with potential problems or varying sever
acontrolled manner.

Risk is calculated according to the probability (P) of it happening and the impact (1) of this occurrence, based on a scale d 1 (very low) and 5 (very high) for each element of the calculation. A RAG rating is then assigned to the total score (i.e. the outcome, which is calculated by multiply
the probability score and the impact score: P x | = O).
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